


N

A

.10

.12

.15

.16

.16

.16

A7

.18

.18

.18

..19

.20

.20

.21

w25

.. 26

27

.28

..30

.31

.31



.32

..33

.35

...36

.38

..39

.4l

el

...45

A7

...48

.50

.51

93

.55

...56

...58

...59

.61

...63

...64

...66

...68

12

e 13






1 S55
3 H6
4 H7
5 H6
6 H6
7 H13
8 S59
9 H2
10 H8




11 H7
12 H8
13 H8
14 S61
15 H8
16 H2
17 H3
18 H3
19 H8
21 H2










N I .0 ©

17






19

165

13






-10 -



-11 -



-12 -



-13-



-14 -



-15-



-16 -



-17 -



-18 -



-19 -



-20 -



-21 -



-22-



-23-



-24 -



-25-



103 H13
104 H6
105 H6
106 H6
107 H6
108 H6
109 H6
110 H6
11 H6
112 H3
113 H8
114 H8
115 H2
116 H8
117 H13
118 H9

-26 -




-27 -



17

103

-28 -



-29 -



-30-

20%



-31-



-32-



17

104

-33-



-34-



-35-



17

31

18

105
106
107
111

-36 -

10



(1)

-37 -



-38 -



17

108

-39 -



- 40 -



-41 -



17

109

=42 -



-43-



-44 -



17

110

- 45 -



18

- 46 -



-47 -



-48 -



- 49 -



-50-



17

12

22

-51 -



-52 -



-53-



501 H4 | H11
502 H7 | H11
503 HS | H11
504 S63 | Hi1
505 H2 | H12
506 H4 | H12
507 H3 | H12

-54 -




-B5 -



-56 -



-57 -



-58 -



-59 -



-60 -



-61 -



-62 -



-63-



-64 -



-65-



29.8m
282,000m?

- 66 -

120.0m

30,000m3



-67 -



-68 -



-69 -



-70 -

0.

3 ha

700



-71 -



-72 -



-73-



20

35

42




7,462 94.6%
S55

6,155 93.5%
H22 1,307| 100.0%




-5.0m

L=21m
2

L=620m

A=15,000m2
1

H6

4,378

84.3%

4,378

84.3%

H20

L=284m
L=100m
L=100m
L=40m

-5.0m L=21m

L=620m

A=15,000m2
1

L=38m

4,365
4,378

B/C=1.21

84.3%

20




L=350m

H7

4,935

95.1%

4,935

95.1%

H18

L=340m

350m

7,500
4,935

700m

B/C=1.25

18

95.1%




-5.0m

-5.0m

A=450m2

L=80m
L=65m

L=240m

1

H6

2,942

80.9%

2,942

80.9%

H20

L=70m
L=283m
L=170m
L=120m
L=150m
L=65m

L=240m

-2.0m

3,374
2,942

B/C=1.19

80.9%

20




-2.0m
-3.0m
-3.0m

-3.0m
-3.0m
-3.0m
-3.0m
-3.0m

L=565m
L=260m
1) L= 40m
L=12.5m
L= 70m
1
L=140m

A=1,500m2
A=2,400m2
A=7,500m2

L=160m
L=120m
L=124m

L=61m
1
1
1
1

L=560m

A= 360m2
A=1,000m2
A=4,000m2
A= 900m2

H6

7,339

90.0%

7,339

90.0%

H19

L=565m

L=260m
1) L= 20m
L=12.5m
L=30m

A=7,500m2

-3.0m L=160m
-3.0m
L=120m
-3.0m
L=124m
-3.0m
L=61m
-3.0m 1

360m2

A=1,000m2
A= 900m2

6,514
7,339

B/C=1.13

90%

19




L=980m

598| 67.0%
H13

465| 57.6%
H18 133| 100.0%

L=897m

B/C=1.26

13

18

67%




12.0km

2/4 14.0(25.0)m
10,950m
6 (1000m) D
2 (190m) 18,111| 97.0%
S59
13,019| 96.0%
H19 | 5092|100.0%
Ic

B/C=




3.9km

55(7.0)m
3,030m
7 (623m) D
1 (267m) 9,000/ 35.0%
H2
8,550| 32.0%
H28 450| 80.0%

B/C=




10

1,8km

14.0(26.0)m
1521m )
1 (279m) 8,580| 84.0%
H8
4,802| 75.0%
H22 | 3,778| 93.0%




B/C=
0.9km
6.0(8.0)m
509m
1 (20m) i
1 (321m)
1,964 34.0%

-0T -

H22 64




]
B/C=
1.3km
6.0(11.0)m
1,272m °
1 (17m) e
]
H8
]
1,080| 67.0%
I
-
=
I
140| 98.0%

H21




B/C=
7,6km
14.020.5)m
1,743m
4 (959m) e
4 (4898m)
JCT 1 ( ’
Ic 1 t)
26,201 44.0%
I
N
I
H24 | 3501| 100.0%




1 12
B/C=

8.2km

13.0(25.0)m
7,479m
13.346| 74.0%

5 (258m)
1 (413m)

S61

8,755 70.0%

-€T -

H24 | 4591/ 80.0%




B/C=

5.1km

6.5(12.0)m
2,771m
10,900 19.0%

8 (654m)
1 (1675m)

H8

10,220| 14.0%

- VT -

H2o | 680l 99.0%




B/C=
1.7km
6.0(8.0)m
1,565m )
1 (175m) 2,500 63.0%
2,344 61.0%
I
-
ol
I
156| 100.0%

H20




B/C 107
169.0 1,944m
L=8,079m 16,900| 29.3% 22,047m3
1,734m
9,756m 5
14,996m H3 5
1 JR
9,805| 29.9% 29,000m2
v 7,812m
518,444m3
13,262m
20
3
H45 | 7,095 28.5% 2
! 146,000m2
—
D
1
B/C 18
17.77 595m
L=2,300m 1,777| 34.4% 51,200m3
3,160m 505
2,850m s 1
17,036m2
1,607| 28.0% 1
2,565m
18 112,800m3
2,255m
2
2
610m
H25 170|  94.9% 2.964m2




-7 -

91.0%

L= 320m 100.0% 178
L= 245m 51.2%
L= 163m 59.5%
V=42,020m3 . 51.0%
V= 5,000m2 1474 74.2%
( )
A= 1,660m2

579

1474 74.2%




-8T -

43 km

113,300 m3/

55 km

H2

56.6%

21,850 m3/

55.7%

2,000| 99.0%




-19 -




14

33

L= 60m
L=550m

15m

500| 33.0%

H13

500| 33.0%

-0¢C -

H21

21




-T2 -

104

-5.0m
-3.0m

A=3,243m?

H6

1176

77.4%

1176

77.4%

H22

L=40.0m

L=24.0m

L=31.3m
-5.0m

L=90.0m

-3.0m
L=60.0m

L=254.0m

A=3,243m?

10

1291
1176

B/C=

116

H22

TT%




- -

=20 e

B L=10

L=100

2

2 A=4000 2 1497) 309% | a=4000 2
- 1,012

- 1,497
He e
1497| 30.9%

H25




-€¢ -

6
L=30 H14 Ve
L=30 B 82
= L=60
L=60 D : HZO
1,438| 82.0% 3 e
A=2,800 2 A=2800 2
L=60 3 o
L=30
L=455
A=2400 2
A 2400 2
1,438| 82.0%

H20 -




-y -

H18 —_

6
1 L=58 B/C 126
1 L=58 L=62
1
L=10 H18
L=62 1,100| 87.7% A=2130 2
2 A=2,130 2 L=20
L=20 L=200
2 L=200 H6 1
1
L=310 1,072
L=310m 1,100
A=3063 2
A=3063 2 1,100| 87.7%




-GZ -

6
B/C=
L=70m L=70m 96%
L=65m L=45m
L=120m L=120m H20
1,521| 96.0%
-2.5m L=40m -2.5m
-2.0m L=30m L=40m
-4.0m L=80m -2.0m 2,141
L=50m L=30m 1521
H6 -4.0m L=80m
-4.0m A=301 L=50m
-2.5m A=190
-4.0m A=301
L=69m
1521| 96.0% | -2.5m A=190
A=1,589
L=69m
A=1,589




-9z -

109

L=25m
L=56m

L=39.4m

-25m ( 3,482

L=200m

L=25m
L=56m
L=39.4m

1,641| 86.0% 5

-2.5m (

3482
H6 1
1,641| 86.0%

H19

1,800
1,641

B/C=

1.04

H19

86%




-)2-

110

L=50
L=270
L=174
L=60m
2,665| 87.6%
-10 A=9,780
-20 A=4,840
-15 A=9,800
-30 A=30,000
-10 L=495 H6
-20 L=80
L=20
2
L=225m
2,665| 87.6%
A=1,660
V=1200 3

H22

L=50

L=270
L=84m
L=60
-10
A=9,780
-20
A=4,840
-3.0
A=15,300
-10
L=495
-20 L=80
L=20
1
L=225m
A=1,660

3,157
2,595

B/C=1.04




6
2 B/C 145
L=240 L=240
! H20
L=90 4.217| 93.3% L=90
L=65 L=65
L=40 L=10
A=6,600 2 3
H6 A=6,600 2
L=400
2 3 L=400
L=300 L=390m
4.217| 93.3%
A=7560 2 A=7560 2 5,598
| 4217
N 2 150 2
& 150
I

H20 —_




190m
4,900m3

B/C 47

-6¢ -

117
L=900m
1,170m
870m

190m
1
1
1

14,142m2

41.5%
1

980m
27,600m3
680m
1
2

64.2%

458m?2




- 0¢ -

113

L=961
L=2,139
L=195
L=32
A=3,500
232
A=7,900

L=3,310

H8

15,576

31.5%

1,720

35.5%

4m

H22

100
A 7900

L 434m

21

22




A=525ha ha
6,310| 35.2% 17
23
A= ha
15
2040| 2.4%
114
H28 | 3370| 63.9%
1
w
[uy
1
1,148ha
5,084 ha
148,470 R e

115

172,400 30.3%




183ha
488 ha
15,020 15,800| 52.5%
18
1,200 m3/
15,780| 52.5%
116
20 100.0%
1
w
N
1
109ha
694 ha
12,600 18500| 26.5%
21
700 m3/ H13
18490 26.4%

117

10| 100.0%




133ha

- €€ -

118

404 ha
9,320

8,600| 40.7%

8,600| 40.7%




-34 -




1,863,591

1,245,245
H11 | 852 150

H4

H11| 830

- G€ -




193

215

502

-36 -




- LE-

503

L=18,636m
L=22,931m

A:210ha

676

887

(H5)
B/ C=1.
(H9)
B/ C=

(H16)
B/ C=

13

L.

.02

02




- 8¢ -

504

B/C=17.0 i
9,390m :
13.0(20.0)m
4 H11 |13971
(S55)
H15
S63
(S53)

H11 14,421




- 6E -

138178

29.8m
120.0m
30,000m3 8,548.0
282,000m3 H10 15,000
13817.8 85480
1.62
H2
H12 | 7,030




-0y -

34,600m°

7500m?2

24580m3
10,200m3

78%




17 7 8
i (300 )
200
32,170m3
5360 H12 | 3,236 |
476 - 12 445
T (a65 )— 16 254 85%
2 467 (12 .
i ; 49 ) )
H3 o
(18%)
(18%)  (42%)
78%
H12 | 2,860
1
| (30%)
I (46%)  (21%)
16
10 450 )
7
| (16%)
(13%)  (42%)
71%

10




93

39

54

42

26
93

—
MO MOO-HO .
Lo
—
N~ _
i <t
— *EE
O LI ANLL M <E N H A O
—
(o)}
A< 1
" —
O O|OojfNO O O O+H 0O O o|o
(e}
© ) 3
i M~
M OO N O© M| <t A O © %
(o)}
(e} <t|N ololole
M~NNOM — Jda e
11 | laldls

-42 -




™
ONOOO- o mo o

m|o
0 o
N[
- —
NO©AAAS oy o
(ol
™ ™
—[cN
oNO OO alo o o
— e
N O A o|d<||m — =
(o'} Sl
N0 L oliole <
— i I

OOH1HO0O00O0 “ao
@ O
- N
N O < MmN © olo
@ [e0]
OHdO A1 MN o olo
o o
N O NLO MO O~ —|oo|N
© [e0]
NI NO T MAN ~ wlo
N N

- 43 -



20
10
31

15
9

25

21

10
32

cleololololoXe)

34

Lo MmN~

10

oOHOoO OO WL<

14
50

12

N oo —

24

LMo

12
38

Lo AL MmN~

34
8
4
2
14

50

- 44 -




o
elolololoNolNoeNe] oo
™
© AN
M AN NJO|[©O N olo
o
° —
O NONTIO OO oo
© <
== i I = =
© <
MmN Ao~ o -l T olo
A AN

o
o
oo
OO0 0O0O0OO0O o
O
o
o e[
O ML o ol
©
N~
oo
OHAO A< o
<t _l)RuO
ONAHAO o || N
— </l
oOMdA - N L o
AN Y ) PN

- 45 -



[ecNololoNeNe]

cleolololololoNoNo)

omnmoooo
O MMM

<MW T W0 A

55

24

|-

|-

119

09

—ANM<T OO

- 46 -



(elleolleleolele}e]
MmMmMmMmMmOo o

MO MMM~ AN

30

30

o oo
M mom

< <

15

55

(

192
48
15 (

- 47 -

32

<
- et
~—~
N To}
~ o —
N N N
N
o © [ToliTe) <
0~
Neled O <
N v T o7
Nm A N
O - N =

21

o To}
nNnoOoooooo o
™ ™
A TN MmO To}
o N
N ©© © N MO —
— To}
—_~—~ ~~
—~ ~—~
™ oo <
© 0
N N N
- < — N
o O~
MAdHOSd 0o
2 1T VCJTUNTUN
— N —
© OO - N =
~ OO ddgq ™
o
To}
OMMmMOmmomn S
1111111115

r
4
r
4
r
4
2\2

©odan

[e0]
N~ g

< Y O
AT A A

54

—ANM<T OO~

To)
DWW OO OO
ST T AT MmO o

N~
MO N©O©MmMNLWD

—~ —~ -
—~ —~ —~ ~
n
-~ ~
N N
~_ wn d <
Mmoo
BOANTdddn N
&~ et—~—+——0
™ — - NN
Ol N =
O qaag—NNm

To)

!
222223333
I I I IR I I 1 PP
AN O ON~O0®

—ANM<T OO

[ticelie)}

—ANM < OO0




OOOSOOSOOSM
MM TOHNTO OO
0
36678786946
™
™
~—~ ~—~
—
o N
N
N
o NOo L0
™ N~ 0
B o@aN - dAm M
AR O 5.1_123
Oodwn -~
NP H S H g @
(o'}
<t
WL NN wn o oo
11111111116

o N~ 0
DO LWwLW0o o O o w
o ™ <
O < < <N —l NN O
o o o
< <t © O o o o ML
— — N~
N~
— ©
—~
N
—
—
—~ N~
— <O —
N —
N
<t
© N
DO HOLOOAD AN
N N
TP Ym -~
0122 ~
© N~
0O 4= 4N
L0
—
P~ I~~~ 00
111111111117

—ANM < W0

O M~

10

Lo o Lo
(elele] o o O o
o N —
nmm< o o mMm<
— o (e}
— <t 00 © o N <
— — Lo
N
N
—_~— N
— N —
—~ N
—~
N < (e}
— —
~
~— v —~
<t
N <O < — ©
N
Lo © ©
, N X L, ™
~TO T~ 1ﬂ<u
— -~
o — N
N~ 0o N
A7 a4 a
(e}
N
66666 © ©o [~
A 4 H 4 — 116
—ANM<T O O N~ 00O

—ANM<

- 48 -



(4) ZFERMAEXFMBEZASETRMHROER

%
140

120
100
80
60
40

H10 | H11 | H12 | H13 | H14 | HI5 | H16 | H17
[ 119 42 | 47 | 28 [ 32 | 53 | 26 | 43

aEt 390

(5) Z=ERA#AEXFMBEZSFTARROER

Fr i
96:00
84:00
72:00
60:00
48:00
36:00
24:00
12:00
0:00

H10 | H11 | H12 | H13 | H14 | H15 | H16 | H17

—o— EEHHFM 24:55|30:30(47:15(52:35|55:15|68:05|58:15|79:45
—=— ZEIEERS /[ | 409 | 421 | 5:15 | 5:50 | 6:54 | 6:48 | 6:28 | 7:15
—a— ZEEEANME] /4 | 0:13 | 0:44 | 1:00 | 1:53 | 1:43 | 1:17 | 2:05 | 1:51

_49_





